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cosh 2x

5 sinh3 2x
dx = ? b)

∫
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c)
∫

x2
√

4x3 − π dx = ? d)
∫

e3x − 2
e5x

dx = ?
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a)
∫

arcsin(5x) dx = ? b)
∫

ex + 1
(ex − 3)(ex + 2)

dt = ?
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a)
∫

1
(1 + 9x2)

earctan 3x dx = ?

b)
∫ 1
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1
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earctan 3x dx = ? c)
∫ ∞

0

1
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earctan 3x dx = ?
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a)
∫ 1

0

(x + 3) sin(πx) dx = ? b)
∫ arcosh2

5

0

sinh 5x√
cosh 5x

dx = ?

(5)

a)
∫

x + 1
(x + 2)(x− 3)

dx = ? b)
∫

2x + 6
x2 + 4x + 13

dx = ?

(6)

Vezesse be az x = 1
3 sin t új változót, majd határozza meg az alábbi integrált:

∫ √
1− 9x2 dx = ?


